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QUESTION 1

Which of the following methods can be used to analyze faults in the NG WDM system? 

A. Loopback 

B. Service Signal Flow Analysis 

C. RMON 

D. Replacement 

Correct Answer: D 

 

QUESTION 2

Loopback is a common operation for routine maintenance and troubleshooting. Which of the following statements about
loopback operations are incorrect? 

A. The hardware loopback is performed by using the fiber jumper or self-loop cable to perform the loopback on the
optical port or electrical port. 

B. When performing a hardware loopback on an optical port, you need to add an optical attenuator. 

C. After the outloop is performed, the signals are transmitted to the internal. 

D. After the inloop is performed, the signals are transmitted to the external. 

Correct Answer: D 

 

QUESTION 3

The protocols used in ASON are RSVP-TE, and LMP. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

ESC can also be used at OLA sites. 

A. True B. False 

Correct Answer: B 
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QUESTION 5

Dispersion compensation is not required for 40Gbit/s and 100 Gbit/s coherent systems because the dispersion tolerance
of coherent boards is large. NG WDM products do not support hybrid transmission of non-coherent and coherent
networks. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 6

Which of the following is not a precaution after board replacement? 

A. Record the settings of jumpers and DIP switches on the board. 

B. For functional units that have backups, check whether the switchover is normal. 

C. Check the indicator blinking status of the board and ensure that the board works properly. 

D. Ensure that no abnormal alarm. 

Correct Answer: B 

 

QUESTION 7

Which of the following statements about the electrical-layer overhead processing source function are correct? 

A. The OPUk performs client signal mapping, frequency adjustment, and rate adaptation in the transmit direction. 

B. The ODUkT calculates the BIP-8 and writes it into the TCMi. 

C. The OTUk calculates BIP-8 and writes it into SM, GCC0, FAS, and MAFS. 

D. the ODUkP calculates overheads such as BIP-8, PM, and GCC1/2. 

Correct Answer: C 

 

QUESTION 8

For the MSTP equipment, the pass-through mode is used for VC-4 services by default, and the termination mode is
used for VC12/VC3 services by default. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 9

When many alarms are reported at the same time, the alarm handling priority is as follows: Handle alarms according to
the priorities of equipment alarms (such as BUS_ERR, HARD_ERR, and COMM_FAIL), optical-layer LOS, electrical-
layer OTUk_LOF, ODUk_SSF, and protection switching. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 10

The LOA board can implement the L2 scheduling function of the Ethernet in OSN 1800. 

A. True 

B. False 

Correct Answer: B 

H13-341 PDF Dumps H13-341 Study Guide H13-341 Braindumps

Powered by TCPDF (www.tcpdf.org)

H13-341 PDF Dumps | H13-341 Study Guide | H13-341 Braindumps                                4 / 4

https://www.leads4pass.com/h13-341.html
https://www.leads4pass.com/h13-341.html
https://www.leads4pass.com/h13-341.html
http://www.tcpdf.org
https://www.leads4pass.com/h13-341.html
https://www.leads4pass.com/h13-341.html
https://www.leads4pass.com/h13-341.html

